
1

cos θ = α として，cos 3θ を α で表せ．また，θ = π
9
のとき，三角関数の積

cos θ · cos 2θ · cos 4θの値を求めよ．
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【答】 cos 3θ = 4α3 − 3α，cos θ · cos 2θ · cos 4θ = 1
8

【解答】
加法定理より

cos 3θ = cos(2θ + θ)

= cos 2θ cos θ − sin 2θ sin θ

= (2 cos2 θ − 1) cos θ − 2 sin2 θ cos θ

= (2α2 − 1)α− 2(1− α2)α

= 4α3 − 3α ……（答）

次に，θ = π
9
より

cos 3θ = 1
2
, cos 6θ = − 1

2

であることに注意すると，積を和になおす公式より

cos θ · cos 2θ · cos 4θ = cos θ · 1
2
(cos 6θ + cos 2θ)

= 1
2
(cos 6θ · cos θ + cos 2θ · cos θ)

= 1
2

(
− 1

2
cos θ + cos 2θ · cos θ

)
= 1

2

{
− 1

2
cos θ + 1

2
(cos 3θ + cos θ)

}
= 1

4
cos 3θ

= 1
8

……（答）

である．


